Problem #2 from GK -HW-2
By measuring the total amplitude of the pulse on the cable  as a function of termination resistance Rt.
For a single reflection in a coaxial cable,  pulse total amplitude  Atot  for of an incident pulse amplitude A0 is given by  :

Atot = Aincident +Areflec;      where  Aincident= A0
 Areflec= (Aincident where reflection coefficient (=(Rt-Z0)/ (Rt+Z0)
Where Rt is termination resistance and Z0 is characteristic impedance of the cable. Then 

Atot = Aincident +Areflec= A0+( A0= A0(1+ ((Rt-Z0)/ (Rt+Z0)))  

  For A0= 5V  and Z0 = 50 ( , figure below shows the reflected amplitude and total amplitude of a 5V step as a function of Rt.
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Check below Table of GK of reflected amplitude for various values of Rt.

	Rt
	Reflected Amplitude

	0
	-A0

	0-Z0
	-A0 to 0

	Z0
	0

	Z0 to (
	0 to + A0

	(
	+ A0


